1) =40+ 0.40Y, (1) C = 40 + .60y 1) »
ire T 81 crore, find Oul average propens;,

ture to Z 85 crore. Why will be
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wing schedule, compute APC, APS. MPC and MPS:

7. From the follo A ="
sl 1 300 | 350
___.___,_-' e —— = L
15 L 20 |
8T | L= Sy W - b UL
(APC: 1. 0.88. 0.95 0,943 0875 APS. 0. 0.02. 0.05
" MPC:—; 0800800 90, 0.40; MPS /
{CBSE, All India 2009 (i
Consumption Marginal Propensity Average Propensity |
to Save to Consume

8. Complete the following table:
Incame

0 15
50 50
100 85
150

{Margina! Propensity Io save. — 0.30 0.30, 0.30; Average Propensify 10 Consy
9. Complete the following table: {CBSE. All India 2009 i
me Marginal Propensity Saving Average Propensiy
io Consume to Consume
- 30
0,75 =
0.75 —
0.75 —

{8aving:—30. -5. 20, 45; Average Propensity lo Consume

Marginal Propensity AEag; i’Ep_er;srf}'
to Consume to Consume

e Prnnens — oppansty
Marginal Propensity Average r‘o’ Ok
1o Sa'.fe [ :‘J"'E'
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= I

consume. —, 0.6, 0.6, 0.4, 0.5)
{CBSE, Deihi 2013 (Ili}}

{0.90; 0.85; 0.40)
crores, if autonomous

(Saving = ¥ 1,050 crores)
on; (ii) Consumption

=60+ 0.25(Y),
of T80 croves)




